26.

27.

28.

If m«POQ = 24 and

what is m2ZQOR? wl PO
If m2POQ = 19,
m2QOR = 31, and A4 +x=59
m<ROS = 15, what X = >6
IS m£POS?

0
If m2QOS = 46, m£POR = 61, o
and mzPOQ = 28, what ;g) mlE00 rml Ro@=ml PO
Is M£ZROS? 3.3,+)(:(’(

Y= 35

MmQRORtm205= ml Q.05
3, + X = 96
Y=15



SuUppose EG=3,EB=8,AF=7, mMLEBG = 19, A
m<sEGF = 28, and m«CAE = 51. Find each value.

SEE EXAMPLE 6 o
AF=7 T\
DF= 5

29.EF = 3 30. AG = || 31.AD= Y

0
32. mzEFG =A% 33. mzCAF = 3 34.DF= >

MmCCAE +ml FAG = mlCAGR
X+ 4= 51



